1. B = hARMEITHR
2. XEEHI\SD B R @ E
3. X & i ¥ IKTHEIBER
FRRBESHS
HRRBSHS
hRmH st BELS
4. % =
2 W
IRTACTREERIEESEER
Pr30Y3Y
ARAHEDREE
NIREHES
5. BF = ERBPHEER

h+E

Pk B=E

M xR
2T B =
NG &EE K
e =B &
HE AR &

HE =B

11:00

11:30

12:30



T2 6FE WEINREH

& i Bt g3 at
75 ~ 79®k 1, 379 1, 873 3, 252
80i% ~ 84wk 1, 035 1, 755 2, 790
85m ~ 89k 643 1, 8351 - 1, 994
90 ~ 94w 221 766 087
95k ~ 99 43 219 262
100 ~ 4 44 48

&t 3, 325 6, 008 9, 333

X TR265E9A8HRAENDAY

e R BE LN

NOBECLZBNABROTVBCOR, IREMSBLLIMEDTELLS,

* NSVADRUVEEE, +0BEREECEDELLD

* EHNICTEFEBEDZREZITITCNDAILR. FEEDEEZE
K<<Fo>TLEEW

* JUBDOEIEHDKRELBZEDET, BIBO1VIII VDT
BBODIED. FkL « SDNEZTBAETVELLD



